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General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages.and total number of questions contained in the
Question Paper are the same as those printed on the top.of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification .of the candidate.

4 Write your Question Paper C@ 59/0SS/2, Set— on the Answer-Book.

5 (a) The Question Paper ig\insEnglish/Hindi medium only. However, if you wish, you can answer in any

one of the languagp§2listed below :
English, Hindi a5 Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Ma o1, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are requited to.indicate_the language you have chosen to answer in the box provided in the
Answer- .

(b)  If you chowose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes. in-understanding the question will be yours only.
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This Question Paper consists of 30 questions.
All questions are compulsory.
Marks for each question have been indicated against it.

Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No separate time is allotted for
attempting multiple choice questions.
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Which of the \owmg organs stores sperms in man ? 1
(A) Semlnaﬁ}%eswles (B) Urethra

(C) Vas deferens (D) Epididymis

qea # e A § few o A e w@fad A B

STEIST (B) T

(C) e (D) sfergomT

(A)

In a DNA helix, a complete turn occurs after every : 1
(A) 3.1 nm (B) 3.2 nm

(C) 4.3 nm (D) 3.4 nm

% DNA Fusdl § U6 FUead gAd & & & o< ¢ ¢

(A) 3.1 MR (B) 3.2 99MRX

(C) 4.3 MR (D) 3.4 A9MRI
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3  Zebra is found in which of the following Biome ? 1

(A) Grassland (B) Temperate deciduous forest
(C) Tropical rain forest (D) Tundra
= o fpd @M H SE1 9@ S § 7
(A) =TI (B) o geiurl &=
(C) IW@REHl aul o= (D) ZugT
4  Which of the following infections cause life-time immunity ? 1
(A) Common cold (B) Small pox
(C) Influenza (D) Pneumococcal pneumonia
frfafad & & @M 9 T B HHAT S JY B TRE U&H Bl 7
(A) g (B) Tu®
©) W (D) gt
5  The value of vital capacity of lungs is : 1
(A) 500 ml (B) 5500-6000 ml
(C) 3400-4800 ml (D) 2000-3000 ml
g SEdT & A FT 5 7
(A) 500 ml (B) 5500-6000 ml
(C) 3400-4800 ml (D) 2000-3000" ml
6  Which of the following N, fixing microbe.is free living ? 1
(A) Cyanobacteria (B). Rhizobium
(C) Azospirillum (D). Azotobactor
ﬁmﬁ%ﬁﬁ%aﬁ?%@;ﬁmwmwvﬁagﬁﬁ%?
(A) WA NS (B) rgAIfSH
© Qaﬁwﬁm\% (D) A
7  Which of tl% following is an example of locomotion ? 1

(A) Stretching an arm to pick a fruit

(B) A bird-jumps to a tree

(C) Frog shoots is tongue to catch an insect
(D) Cow wags its tail to drive away flies
frafafed IeEl & ¥ N 91 SeE §9d o 7
(A) T ¥ %l ISl

(B) TH Ul & IBA BT U UX TGl

(C) ¥emd & WY & HT B gws

(D) T & Y8 At AfReal o™l
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8  Which of the following statements is true ? 1
(A) The lubb sound of the heart is due to closure of semilunar valve.
(B) Pulmonary vein carries oxygenated blood.
(C) Heart beat originates at A.V. node.
(D) Arteries have semilunar valves.

ffafed & § &9 @1 ®9T I §°

(A) T3 ¥ W9 P @ AYYEBR HURl b 95 B4 & BRI el 8|
(B) THa B H SRS BET Bl 1

(C) &w@a-wg A.V. node ¥ ®ar |

(D) wmfEl ¥ erddEeR Hue B B

9  Explain Binocular vision. 2
fe= gfe wwmsul
10 What should be the blood group of the donor, if : 2

(i) Blood group of the Recipient is ‘AB’
(ii)) Blood group of the Recipient is ‘O’
fordl T @1 @ O R/ BT dfed, afe

(i) 9YE B W GE AB’ ®

(i) uUH & W TE O’ F

11 Match the following : Q 2

Column-A K\Q Column-B

(i) Iodine §Q§ (A) Delayed blood clotting

(ii) Iron NS (B) Night blindness

(iii) Vitamin @ (C) RBC

(iv) Vitamiﬁ% (D) Goitre

fr=fafaa & e @i
FAH-A F@H-B

(i) omafeT (A) T &1 JFBI X § 90

(i) e (B) ard

(iii) faefm K (C) W & BivTHIT

(iv) faefm A (D) T@E

12 Which are the two major pathways by which plants fix CO, ? Which are 2
the initial CO, acceptors in each pathway ?
gl ¥ CO, Redietwr &1 &1 wq@ fafal &= @ 87 aF0 faftal o agavean
CO, Tdyed fohg &9 0 W&o & Sl @ 7
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How does haemoglobin help in the transportation of O, in the blood ? 2

TAraEE T ¥ O, & uiEsd ¥ Y 9w § 7

How and where nitrite is reduced to ammonia in plants ? Write down its 2

equation.

el § A52Ee B ST H SUTAT hd 3N Hel Bidl & ¢ IUBT UG [aRau|

What type of cell organelles and cell wall are found in Bacteria ? 2

Strerpet # fpE Wt & iRt ofe @ ifyrer fafa gk %

What is the mode of nutrition, respiration and reproduction in. yeast ? 2

A § wuor, gaEe iR W1 &9 BaT 7

What is Diabetes mellitus ? What are its symptoms ? 2

TSN Afeed 1 7 3HP @A B F B¢

Name the technique of ing-plants: without soil. Why vigorous 2
bubbling of air is es%ﬁial for-this technique ?

Wﬁﬁﬁ#\@ﬁf)aﬁaﬁmwwwlsﬁmﬁ%ﬁﬁﬁ

g & W@@wﬁa BT AETD T 7

Express the process’ of photosynthesis by an equation. 2

HBIYT FIWTIT bl UishaAT bl THIGIY &0 Afemad &1 |

Which are the main sites through which transpiration occurs ? What is the 2
effect of light on the rate of transpiration ?

TSAIEST Dl WAl fh U@ T 9T Bl & ¢ 39 [shAT Sl &Y UX WehIST Bl T
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21 Name the hormones that : 4
(A) Induces parthenocarpy
(B) Induces dormancy in seeds
(C) Is gaseous in nature
(D) Suppresses the growth of lateral buds
T % AW 9qiey S
(@) oT-Y%BAT &l URd HIar & |
(@) T S SO Ashal © |
(m & e
(@) wed et B ghg Uebar T

22 Differentiate between : 4
(a) Maize Seed and Gram Seed
(b) Thalassemia and Sickle cell anaemia
I WL BT
(®) Rl @ ST qur o B qo
(@) gt qur fqea 9« TAitEn

23  Write short notes on : \Q® 4
(a) Breathing Q§
(b) Lymph \Q"Z)-
(®) drg w=
(@)

24 Draw the following and label its parts : 4
(A) Stomatal apparatus of Dicots
(B) Parenchyma
Frer @1 iR R SR
(@) eSOl 9=l @1 T B

(@) 75
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25 Give one term for the following relations :

26

(a)
(b)
(c)

(d)

One organism receives benefit at the cost of the other.
An interaction between different individuals of the same species.

An interaction between two populations in which both species are
harmed to some extent.

Association between insect pollinating flowers and pollinating insects.

frfafaa owfe & fiu sfaa sreEmeet Taiy -

()
(@)
(m
(=)

A TH SIa B B BN & S AL Bl @MW el 8§ |

Uh B Wd & [ara= Sal % S W drel oI foRar |

T gREl % 9 @ o fhan TTEH $® 'E 9@ aMl @l BN Bl © |
WA gl TE ORI Gl % S 9Edad |

Assign the following plants to their respective division :

(A)
B)
©
(D)

Vascular tissue present, Seeds not enclosed in ovary
Vascular tissue absent, Plant body haploid, Sex organs jacketed
Vascular tissue present, Plant body diploid, Prothallus present

Vascular tissue present, Seeds enclosed in ovary, Seeds have one
cotyledon.

e diel @l S9% 3fad wHTT § anihd wig

qaedl e HeE, 9 oSl ¥ a9 Tel

(@) wael Sas el ¢, e URY THWEE, W of erafkd
(M "aE Faw GNE, Ry WRIEES, WIAd a9 @
(@) dae Wlﬁvﬁéf\ Tl W T, §1 § had T SoTOS
&
27 (a) Name two@s of phagocytic cells. Where are these found ?
Give t §mp0rtant features of these cells.
(b) What are transgenic organisms ? Which bacterium is used to introduce
required genes in plants ? Name a transgenic plant and an animal.
(@) aF YBR B HFHW] HIRHT B € §7 T Hel 45 ol & 7 376 A &
T FAET|
(@) UGS Sig T ¥ ? el UeY U e 6 fIg e |r siary g H
qifsq Wi & Fheadd & T YA a7 UH UISiHl Uiy q9r Sig el
EEEEC IS
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28 (a) Explain the law of independent assortment. 6
(b) Explain the various steps of DNA replication.
(%) @ o9 & e a9sEa|
(@ DNA fapH & fafv= avoll sl gwsiey |

29 (a) What is the relation between increasing population, agricultural 6
development and environmental degradation ?

(b) What is vegetative propagation ? What are its advantages and
disadvantages ?

ol SeTdl, B fywm dur el frefeer &1 w=n @y § 7
BIUh oW 1 &7 39h WM d BT 9T & 7

~—"

q 9

30 (a) What do you understand by conservation of natural resources ? 6

Why do we need to conserve natural resources ? Give any 4 reasons.

(b) What is the chemical nature of fats ? State any 4 functions of fats.

(@) Uiplas TETEAT b WAV G U RN THAG & ¢ b G Bl SAETRA
F &7 B3 AN BRI AN

(@) awaﬁﬁwmﬁzﬁ\\@%w%?wésaﬁéaﬂmwl
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